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An English Translation:

L]

Basic Mathematics I

Answer the following questions.

(i) Let,,C, be the binomial coefficients ,,,C, =

|
S Using the binomial theorem
nl{m — n)!

(@ +bB)" = 1Coa™ + nC1a" b + nCoa™ 2 + -+ -+ nCb™,

show that

lim 2" = oo
=00

forz > 1.

Next show that

limnaz™ =0
n—ros

for0 <z <1

Let 2o # 0. Show that the power series
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converges for any real number z such that {x| < lxg|, if the power series converges

at the point & = xg.

Next find the domain of the real number z such that the power series

CONVerges.



